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MATHEMATICS
1. 3I=Re3C Jeqod n IS FeIP S, = . (_tanx_)
n 4, xl}_:;rzo m_z o 23S0
n? + n SO, FRROIT 3,:F0D WINT,
(A) 2 (B)" 3
BT, 3D (©) 4 (D) 6
(A) 4 (B) 1
)2 i 5. “omy TEME X, x Y y nent
, x+y=y+x" & wicd JoE
2. Ix+my=nZIx+my=n 30
X+ my =n O/x+mly=n% ogoto
QOB FowdeslSnish wowmAYTTS
(A) o, I :\.‘o‘:d5 x S0 y ner,
(A) II'+mm'=0
Xty#y+x
(B) Im'=m/
(B) dog woxaE ma.‘g x 3 y nen,
(C) Im+I'm'=0
(D) Im'+ml'=0 RTYTYTE
(C) doxy =38 Road, x WX y nert,
xX+yzy+x
3. Toswod x2 = 4ay 030 (2, 1) 2T
(D) doxy ZDE Koad, x K y nen,
Tt T JBeesd RPod vow
xX-y=y-x
TBRoY
s, 6. 6.7,8,9, 10 CE0sa SRFE DR
(B) 4
w3 (A) 2 (B) /10
) =% D) 10
‘(D) 8 ©) (D)
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MATHEMATICS

1. If the sum of n terms of an A.P. is ’ i ( tan x ‘ ) i nlin
given by S_=n? + n, then the common x=>0\\2x +4-2
difference of the A.P. is (A) 2 ® 3
(A) 4 (B) 1 © 4 (D) 6
© 2 ©) 6
5.  The negation of the statement “For all :
2. The two lines Ix+my=n and real numbers xandy, x +y =y + x’_’ is
I'x + m'y = n' are perpendicular if (A) for all real numbers x and .y,
(A) '+mm'=0 x+ty#Ey+x
(B) /m'=m/ (B) for some real numbers x and y,
(C©) m+I'm'=0 PRy X
(D) Im+ml'=0 . (C) for some real numbers x and vy,
x+ty#y+x
' (D) for some real numbers x and y,
3.  If the parabola x? = 4ay passes through )
the point (2, 1), then the length of the
latus rectum is
A) 1 6. The standard deviation of the data
B) 4 6,7,8,9,10is
€y 2 (A) 2 (B) /10
(D) 8 € 2 (D) 10
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TOXS  [IW Y ST, 10. nea A= {a, b, c} SR, 9 A @ e
PRSNT A, B, C nsb P(A) = 2P(B) = OFRT 8,080 2.3, K03 Med
e
3P(C) & 3 artevasd P(B) odw
(A) 3 (B) 36
1 2
A 11 B) 171 [y W (D) 3°
Pl 4
LT B)- Ty ‘
1. fx)=cos\x— 1 v33@ee33
8. R 3.2‘_ nee {1, 2, 3} © MDevr (A) [1,2] (B) [0,2]
Fowogiameh we,am, awen R = {(1, 1)} ©) 1.1 (D) [0, 1]
@men, Ry
(A)  TSTOS R Axwond , A
12. cos (sin" 3 +cos™! g) S S0z
(B) TEFOR =3 Tox8 :
(C) R=nord oz moms (4) .0
(D) m=mord 2ng, Byt
<€ -1
D) ©R3TOPOY
9. ou3g f:[2, ®) — R & flx) = e
x2 — 4x + 5 0T w0, 0, f 3
339, 030 0 01
: =1 010 4
AV o00) 13. A &8 A* o0t
1 00
(B) [1,)
(D) [5, ) ©) I (D) 4A
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If A, B, C are three mutually exclusive 10. If A = {a, b, c}, then the number of
and exhaustive events of an experiment binary operations on A is
such that P(A) = 2P(B) = 3P(C), then (A) 3 (B) 36
P(B) is equal to © 3 D) 3
1 %
A) 1 ®) 717
3 4 11. The domain of the function defined by
© 17 D 17
flx) =cosla/x -1 is
(A) [1,2] (B) [0,2]
If a relation R on the set {1, 2, 3} be (C) [-1,1] (D) T0,1]
defined by R = {(1, 1)}, then R is ‘
(A) Reflexive and symmetric 12 Tt JolvE of
(B) Reflexive and transitive - & -
cos(sin‘I 3+ cos™! '3:') is
(C) Symmetric and transitive
(D) Only symmetric (A) 0
(B) 1
< -1
Let f : [2, ®) — R be the functi
; [2, ) i e 2 (D) Does not exist
defined by f(x) = x* — 4x + 5, then the
range of f is 7 '
0 0 1
(A) (—0, ) ;
13. IfA=| 0 1 0 [ then A*isequalto
(B) [1,) 1 0 0
(C) (1,x) (A) A (B) 2A
(D) [5, ) € I (D) 4A
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14. A, B. od» zmedrod wPew by B MERLER ag ARP030
RRZPoIRNEE =B B o0 womd a a8 3
DRROR W0E,§ 93T, A'BA 030 Bpcdamit] M % % | audodn
a8 g
(A) =snon @Ry .
(A) 5 +a)
(B) ues, Sngd
(B) a;+ag
ke (C) log, (log.e)
(D) oxswon BN g (D) 1
o L 18. A oo 3 Derodd SnFsngotnng)
15. Y 08 SRS E A
(3 2) (0 1] " SR |A| = 5 ¢35 |A adj-A| o3
v (A) 5 (B) 125
£ 25 D) 625
(2 IJ ( 5 -1] ©) (D)
A B
Ay 3.2 (B) = 2
: (-2 1)D (2-1) l%:fx,ifxto
i 1y B L O 19. flx)= 1
gy ifx=0
Qg 9,59, QAT LVIFY x = 0 WOTOIIY,
16. f(x)=| x—-a x*-x c+x |sz8 ﬁaﬁﬁmmanﬁém
x=b “x-¢ 0 A) i% B) 0
A) f{(1)=0 (B) fi2)=0 ©) +2 D) +1
(€) RO)=0 (D) f-1)=0
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14. If A and B are square matrices of same 17. Ifa a,a,........ ag are in A.P. then the
order and B is a skew symmetric a -2, a,
matrix, then A'BA is it g0 Aitis
(A) Symmetric matrix a, a; a,
(B) Null matrix 9
(A) 3 (a; +ay)
(C) Diagonal matrix
(B) a, +
(D) Skew symmetric matrix R
(C) log, (log.e)
PR T e
. i ik t
a2 R s
matrix A is 18. If A is a square matrix of order 3 and
2" 1 2 e | IAI -~ 5, then ‘A adj’Al is
(A) ( J (B) [ )
5 jou =3 (A) 5 (B) 125
. [—2 1 ] (2 —1] (C) 25 (D) 625
D
(©) 5 (D) 8%
1-cosKx .
A AT ifx=0
¥»-x at+x b#*x 19. Iff(x) = 1
B ifx=0
16. If fix) = | x-a x*-x c+x :
Y b ke 0 is continuous at x = 0, then the value of
then Kis
1
(A) fi1)=0 (B) f(2)=0 (A) (B) 0
(€ f0)=0 (D) f-1)=0 (C) 2 (D) #l1
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lx - d
. ﬁx)={%,,711 , ifx=0 23, (re) = e wmori g oo
0 S ifx =0 :
ogx
WIFT B TR WORDIOID A T o)
8,305oN 1
(B) (1 +log x)?
(A) 131
s log x
© T+
(B) 1 =-1 LS
D
(€) "=l ~1 2 xy-1)
(D) -1a1
2. y=20%1+2 wmn Zgzxom
B A e BTN X dx2
; d (A) 6n(n+l)y
X - X+ _1
21, 2+2V=2"Ywmon g & tiodn ®) n(n+ 1)y
(A) P2 - (B) 1= © *Z+y
-1
©) 277 D) 5 (D) vy
25. OOR> T8,Jeadnied 2x = y2 3B 2xy =K
A :
22. f(x)=sin ‘(1 _,_xz) wort £1(1[3) oo TOXC wowpdsmen gedren K2
1 I tedod
A) -3 (B) 35
1 : (A) 4 (B) 242
©) ﬁ (D) -ﬁ ©) 2 (D) 8
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20, The right hand and left hand limit of

dy

23. If (xe)Y =e*, then o is
the function
log x
e]/x 3 q (A) _.g_
f(x)={_h—e”"+l - ifx»0 (1 + log x)?
0 , ifx=0 1
B) T+ 2
are respectively (1+legx)
log x
.(A) 1 and 1 © (1 +log x)
(B) 1and-I 7 o
(C) -1and-1 x(y-1)
(D) —~landl
3 d?y .
e Dt b 1 e 2
24, Ify=2x" +x“’ then x 42 1
21. If2x+2y=2“-"’,thcn%¥is (A) 6én(n+ 1)y
B) n(n+1
AL W (B) n(n+ 1)y
d
-1 ©) x af ty
e R S
(D) y
Bt = 54 r\/' : 2
22. Iff(x)=sin 1+ , then f'(n/3) is 25. If the curves 2x = y? and 2xy = K
: ] intersect perpendicularly, then the
Aa) =3 B) 3 value of K2 is
1 1 (A) 4 (B) 202
2 D) =
\3 \3
o) -2 (D) 8
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log.x 3x+1
26. x>0mn, 8 nox ot 29. J(x~l)(x—2)(x—-3)dx
(A) e (B) 1 =Alog|x-1|+Blog|x-2| +Clog
| 1 |x - 3| + C «u33 ess08,z0mNn A, B 0%
© = (0} E5
C n¢ tdgdexo
(A) 5,-7,-5 (B) 2,-7,-5
27. PIFpoTT B 5% T a?zs?’dd [Clate] :
©€) 5-1,5 (D). 2,-7,5
ey | QAe0IFT TOTLRIS BUFRY
(A) 10% X
30. je““" sin 2x dx & Yo
(B) 60%
A) 2e™ (sinx—-1)+C
© 6% (A) ( )
(B) 2e™(sinx+1)+C
(D) 20% '
(C) 2™ (casx ¥ 1)%C
(D) 2e8i™(cosx-1)+C
1 +x*
28. J l +x6dx afhiSloveb!
1
: 2
(A) tan'x+tan'x*+C
3. fcos“xdx © Bdosn
(B) tan”!'x +%tam'l B+C —';“
1 o B
(€) tan'x-Jtan' ¥+ C (A) n ®) 3
1 n
(D) tan™'x+3tan!x?+C © 1 (D) 5
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26.

27.

28.

16g
The maximum value of xex, ifx>0

is

(A) e m iyl

M | =—

©).-3 ) =7

If the side of a cube is increased by
5%, then the surface area of a cube is

increased by
(A) 10%
(B) 60%
(C) 6%
(D) 20%

dxls

The value ofj 1+ 15

(A) tan!x+tan!x3+C

(B) tan!x+ ':I; tan! x3+ C

29.

30.

31.

Xl

Dx-2)(x-3) &

It

= A log [x - 1| + B log |x - 2| + C log
]x— 3| + C, then the values of A, B and

C are respectively.

(A) 5! _73 _5 (B) 2! —7’ —5
(C) 5! —7: 5 (D) 2, —7, 5
The value of j eSin¥ gin 2x dx is

(A) 2eS™ (sinx—1)+C
(B) 2™ (sinx+1)+C
(C) 2e8i™(cosx+1)+C

(D) 2ei™(cosx—1)+C

2
The value of f cos lx dx is

T
© tanx—Ftan! 53+ C A) = ®) 3
2
(D) tan~!x +%tan‘1 2+C ©) 1 (D) 1‘5
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0s X

W S NI
el o)

32 7 o dx T et
(A) 2 (B) 0

© 1 (D) -2

1
| -
33. fi’%—(jx—,xl dx T osn
0
(A) % log 2 (B) % log 2

1
© 3 (D) % log2

34. y> = 8 TyOe3 P y =
xovdeaiodnon agamw

QRCEIFTY

(=)

(A) 5 BEoIRIND

(B) 7 300 InsAwd

(C) * UEs IR

Wioo BlW WL,

(D) = ¥E0 IHIAD

2x

3, dev

3s.

36.

37.

y=2x + 1 Zo¥desd, x = -1, x = 1

ATerZEny NS x-etip :oc,gs eﬁ:bsmcs

T, 03T LAY
9

a3 (B) 2
5

© 3 (D) 5

¢, Yy = (¢, + ¢c;) €& ™ % T[5,0eainie’

BEOOWT  FOOEBOLRTY, AT

WERCQAT BTEOT TCFTLITS el o

(A) 1
€y 3

(B) 2
(D) 4

x2dy — 2xy dx = x* cos x dr ©=893

X20EPTERT WRRS, TOTO

(A) y=x?sinx+ cx?
(B) y=x?sinx+c
(C) y=sinx+cx?

(D) y=cosx+cx?
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32.

33.

34.

I
2
(e e o
Thevalueof‘J.l_Fexdxts
t
7
(A) 2 (B) 0
<) 1 (D) -2

1
og (1 +x)
Thevalueof'J-l P dx
0

(A) 3log2  (B) Hlog?2

L

1
) (D) 3 log 2

©)

The area of the region bounded by the

curve y? = 8x and the line y = 2x is

16
(A) 3 54 units
(B) % $q. units
3 y
(C) 259 units

8
(D) 3 5. units

3s.

36.

37.

The area of the region bounded by the
line y = 2x + 1, x-axis and the ordinates

x=-landx=1is

0o

(A) (B) 2

(©) (D) 5

2 jun

The order of the differential equation

obtained by eliminating arbitrary

constants in the family of curves
c,y=(c,+cy)er " is
(A) 1 B) 2

<© 3 (D) 4

The general solution of the differential
equation x2dy — 2xydx = x* cos x dx is
(A) y=x2sinx+cx?

(B) y=x*sinx+c

(C) y=sinx+cx?

(D) y=cosx+cx
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38. | cdniydle WoTd (v, y) VY, ASFUS LU | 41, 20-3]+4k, 21+ -kmomoai-j+2k
2x
-}7 &us, (1, 2) VTS Rt Towd OB woTe XZOTY 248 A T
BeerOs 38, Teadodn Sedo3n
(A) 2 (B) TomeoD A) 6
(C) Oeprl@ (D) w©SITSOD (B) -5
€ -6
39. oBnRessi+)+k B 1+ 3] + 5k nied
AABC o maEoness AB =¥ AC
LI Lp)
2 2. [axbf+|a-bP=1448(a]=6
O, BRB TN TSAPATN A R0T
-
otk Bt SO, Jessod ¢vg e [b] o oo
A) 6
(A) 3@ ®) 14 o
(B) 3
|
©) 7 D V14 © 2 |
(D) 4 |
40. 3 % b rivd DEROBANE 6 L
5 43. womd(1,-3, 4) AT TP
[T ﬁmeaﬁmncéd sin ) )
(A) SOBIOIE
- =
a+b
@A) [2+b] @) L—z—l (B) Sweosebd
- =
-~ (C) OB
o 2 o z-3 :
(D) oouSodmd
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38. The curve passing through the point
(1, 2) given that the slope of the tangent

: Tt
at any point (x, y) is 7 represents

(A) Circle (B) Parabola
(C) Ellipse (D) Hyperbola

39. The two vectors i +j + k and i + 3] + 5k

—_— S
represent the two sides AB and AC
respectively of a AABC. The length of

the median through A is
31 14

@A) 5 (B) 14

(). (D) 14

40. If3 and —l; are unit vectors and 0 is the

41.

42.

If the vectors
21-3)+4k 21 +j —kand Al -] + 2k
are coplanar, then the value of A is

(A) 6

(B) -5

<© -6

D) 5

If[a x B*+[a - b|* = 144 and [a] =6,
then |_I-;| is equal to

(A) 6

(B) 3

C) 2
(D) 4

angle between a and b, then sing is 43. The point (1, -3, 4) lies in the octant
(A) Second
e =5
—_ = a+b
A) [a+b] @) 171 (B) Third
X2 (C) Fourth
|a £ bl B
© 5 O [s-}] (D) Eighth
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44, .07 ROYTeadodn x NV y-eu;dtaobrf 47. wW3og LPP o ﬂoz;mﬁzs ajdeziasagt
% mwn‘_\% FOOLHRALT, ¢ Beadoso ZedxRNE. Z = 11x + Ty 8T8, Z o3
3 — 2, o
z-e:idm&ﬁ VOLLTN I LPOERTR) b S o oo
Y
n s
A 2 (B) %
T T
© 3 D) 3
> X
0l o
Xeed L ¥nd x+ym=3 \13 =9
45. (1, 2, 4) VoRART B T X+ oy
ay ' (A) (0,5) B) (3,3)
293 A[293
(A) 5 B) =
48. w0 Tedod “IINIINY IS
293 A[293 _
©) %9 D %9 AEFORT  TogRs, T[oesn  Swd
wordrisd (0, 3), (1, 1) 02 (3, 0) 8B,
46. Xovdess ";2=3_‘4y=z;4msg P, q> 0 DO z = px + qy SADOT z 3
BB 2x — 2y + z = 5§ BE VORI 8, 135 (3, 0) 1K (1, 1) RYQ,
sine gRe%y) (A) p=2q
3 3 (B) p= -
—_— = P
(A) ,\15_0 (B) 50 2
- g 5 \2 (€©) p=3q
5\2 10 (D) p=gq
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44.

45.

46.

If a line makes an angle of% with each

of x and y-axis, then the acute angle

}

made by z-axis is

A

A 7 ®)

A

& G (D)

The distance of the point (1, 2, —4)

X3 Y3, gt S
from the line 5o gl w8
293 293
(Rilme o ey

293 293
© T (D) 3%

The sine of the angle between the

] . -2 3- -4
straight lmex3 = _4y=z5 and

47. The feasible region of an LPP is shown
in the figure. If Z = 11x + 7y, then the
maximum value of Z occurs at

Y

5 5 >X
| XY Txulyed
(A) O,5) B) G,3)

© 6,0 D) G,2)

‘48. Corner points of the feasible region
determined by the system of linear
constraints are (0, 3), (1, 1) and (3, 0).
Let z = px + qy, where p, q > 0.
Condition on p and q so that the

minimum of z occurs at (3, 0) and

(1,1)is
the plane 2x —2y +z =5 is (A) p=2q
3 3 2
@ T ® 5 B) p=3
(©) p=3q
R 2
© 35 O 31% 3
5 D) p=gq
Space For Rough Work
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49. A 5% B Huseo PA) 2%’ P(B) =% 51. A, B 3 C oot Sed S8ned wod
BPRODI  RABeFTON 0BT
1
s it bl Rl L e RorRecHhdsty GO 3, 5 K 3
P(A'/B) o3 AR, vyl ADIODI LA
RoyEeciIcI0
2
)3 1
: (k13
By = 1
e ®) 3
1
© 3 ©) 3
1
1 D) +
®) 33 L
52. P(E)=P(E)=%emﬁ@ﬂ5 o3
50. womd mVRRY 10 X W B ! 2 I
F.2 n S 3 JPgn PLERTINS.
WO RUTTTR moa%cdw e |
A om0 PLFCIRNT) P(E,/A) = 5
2008 FogdEReohIotw 2 |
Y PAE) = T odry Ipdamen
1 :
A ——
(A) 7022 P(E,/A) o0
1
1023 -
B) 7024 il
2
11 B 3
© To2a
)
1013 1
®) o2 O3
Space For Rough Work
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95 Ik dnd B ite two edents sock: fat 51. The probability of solving a problem
| : : by three persons A, B and C
e e 2 =— 1 1
then P(A/B) is respectively. Then the probability of
5 the problem is solved by any two of
(A) 3 them is
A 13
1 12
®) 3
1
1 ®) 3
© 3 :
©) 33
1
) T 1
e O 3
50. A die is thrown 10 times, the 52. Events E‘ and E2 form a partition of
probability that an odd number will the sample space S. A is any event
come up atleast one time is such that P(El) — P(E’z) . ..21., P(EzfA) =
1 1 2 .
(A) 1022 ) and P(A/Ez) =3 then P(EIIA) is
: 1
1023 (A) 3
B) 7024 4
2
1 (B) 3
©) Tooa
1024 © 1
1013 1
® To2a D) 37
Space For Rough Work
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53. nA={l,23,4,5 6} cadnnAr 57. P(n): 2" < n! 08 P(n)=) 3arkeemos
WH, 20D rmeosndEn driecd ©8 138 PIOZE Prwr o3y
Trieany Ko
& 3 83;5011) A) 2 ®) 3
(A) 64 (B) 63 (C) 4 (D) 5
) - 57 (D) 58
: 58, z=x+iywmn, z+1|=z-1| 3
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53.

54.

55.

56.

If A= {1, 2, 3, 4, 5, 6}, then the
number of subsets of A which contain

atleast two elements is

(A) 64 (B) 63

(C) 57 (D) 58

If n(A) = 2 and total number of
possible relations from set A to set B is

1024, then n(B) is
(A) 512 (B) 20

(C) 10 (D) 5

The value of sin? 51° + sin? 39° is

(A) 1 (B) 0

(C) sin12° (D) cos12°

If tan A + cot A = 2, then the value of

tan® A + cot* A =
(A) 2 (B) 1

©) 4 D) 5

ST

(©) 4

58.

59.

60.

If P(n) : 2" <n!

Then the smallest positive integer for

which P(n) is true if
(A) 2 (B) 3

D) 5

If z = x + iy, then the equation |z + 1| =

|z~ 1| represents

(A) acircle (B) a parabola
(C) x-axis (D) y-axis
The value of

16C9 4 l6c10 A 16(:6 __ |6C7 is

(A) 0 (B) 1

(C) ”CIO (D) l'?c3

The number of terms in the expansion

of(x+y+2z)10is

(A) 66 (B) 142

(€) 11 (D) 110
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1M0730K (DAY-1, SECOND SESSION)

SUBJECT CODE TIME Question Booklet

VERSION | qppiAL NUMBER
M 2.30 PM TO 3.50 PM CODE

A-1

TOTAL MAXIMUM TIME MAXIMUM Total No. of MENTIONYOURCET
DURATION | FOR ANSWERING MARKS Questions NUMBER
80 Minutes 70 Minutes 60 60
DOs:
1. This question booklet is issued to you by the room invigilator after 2.30 pm.
2. Check whether the CET Number has been entered and shaded in the respective circles on the OMR answer sheet.
3. The version code and serial number of this question booklet should be entered on the OMR answer sheet and the respective

circles should also be shaded completely.

4. The Version Code and Serial Number of this question booklet should be entered on the Nominal Roll without any mistakes.
5. Compulsorily sign at the bottom portion of the OMR answer sheet in the space provided.
DONTSs: :

1. THE TIMING AND MARKS PRINTED ON THE OMR ANSWER SHEET SHOULD NOT BE DAMAGED /
MUTILATED/SPOILED.

2. The 3™ Bell rings at 2.40 pm, till then;

* Do not remove the seal present on the right hand side of this question booklet.
¢ Do not look inside this question booklet or start answering on the OMR answer sheet.

1. Incase of usage of signs and symbols in the questions, the regular textbook connotation should be considered unless stated
otherwise.

2. This question booklet contains 60 questions and each question will have one statement and four different options /
responses & out of which you have to choose one correct answer.

3. After the 3 Bell rings at 2.40 pm, remove the paper seal of this question booklet and check that this booklet does not
have any unprinted or torn or missing pages or items etc,, if so, get it replaced by a complete test booklet. Read each item
and start answering on the OMR answer sheet.

4. Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the question number on
the OMR answer sheet.

XOIRG 8,7 . 3 8,50 WRONG METHODS
e3P OO 000D O8O0
®®O0D® ®e0®

5. Please note that even a mirute unintended ink dot on the OMR answer sheet will also be recognized and recorded by the
scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet.

6. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the
same,

7. Last Bell will ring at 3.50 pm, stop writing on the OMR answer sheet and affix your left hand thumb impression on
the OMR answer sheet as per the instructions.

8. Hand over the OMR answer sheet to the room invigilator as it is.

9. After separating the top sheet (Office copy), the invigilator will return the bottom sheet replica (Candidate’s copy) to you.

NOTE : In case of any discrepancy between English and Kannada Versions, the English version will be taken as final.
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